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1. Define “effective capacity.” What are the fasttihat affect it?

2. What is the purpose of line balancing? List fmethods that can be used
to solve a line balancing problem.

3. What is the difference between ERP and MRP 11?
4. Describe the following priority rules:
(1))FCFS (2)SPT

(4)S/O

5. Describe and compare process layouts and préaiuits.
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2.00|.9772.9778.9783 .9788|.9793|.9798|.9803|.9808|.9812|.9817
2.10|.9821/.9826 .9830 .9834|.9838|.9842|.9846|.9850|.9854 |.9857
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2.30|.9893/.9896 .9898 .9901|.9904 |.9906|.9909|.9911 |.9913|.9916
2.401.9918.9920 .9922 .9925|.9927|.9929|.9931|.9932|.9934 |.9936

o
piu
F
(o))
>




